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PART—I: ENGLISH

Directions : Read the given passage and answer
the questions that follow (Q. Nos. 1 to 5) by selecting
the most appropriate option.

As | watch you grow
Do you know how much you mean to me?
As you grow into what you will be. You came from
within, from just beneath my heart.
It's there you'll always be though your
own life will now start.
You're growing so fast it sends me a whirl.
With misty eves | ask, where’s my little girl?
I know sometimes to you | seem harsh and so unfair.
But one day you will see, | taught you
well because | care.
The next few years will so quickly fly,
with laughter and joy, mixed with a few tears to cry.
As you begin your growth to womanhood,
this fact you must know.
You'll always be my source of pride,
no matter where you go.
You must stand up tall and proud,
within you feel no fear.
For all your dreams and goals, sit
before you very near
With God'’s love in your heart and
the world by its tail
You'll always be my winner, and victory will prevail.
For you this poem was written, will help front above.

To tell you in a rhythm of your
Mother’s heartfelt love.

1. Anantonym for the word ‘harsh’ is

(A) severe
(B) mild

(C) grim

(D) clashing

2. Inthe expression ‘it sends me a whirl’, it refers
to

(A) travelling far
(B)  growing up
(C) new experiences
(D) thereal world
"

3. To'standuptall'is
(A) growing up healthy
(B) betalllike the boys
(C) being fearless

(D) getting ambitious

4. The phrase ‘the world by its tail' means to
(A) beagood foilo@er
(B) overcome challenges
(C) face one's enemies

(D) toavoid challenges

5. The poem addresses a
(A) friend
(B) daughter
(C) mother

(D) girl

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 6 to 13)
by selecting the most appropriate option.

Surviving a Snakebite

Annually, there are a million cases of snakebite in
India and of these, close to 50,000 succumb to the
bites.

When you look around the countryside, where most
bites occur, and notice people’s habits and lifestyles,
these figures are not surprising. People walk
barefoot without a torch at night when they are most
likely to step on a foraging venomous snake.

We encourage rodents by disposing waste food out
in the open, or by storing foodgrains in the house.
Attracted by the smell of rats, snakes enter houses
and when one crawls over someone asleep on the
floor and the person twitches or rolls over, it may
bite in defence.



Once bitten, we do not rush to the hospital. Instead
we seek out the nearest conman, tie tourniquets,
eat vile tasting herbal chutneys, apply pouitices or
spurious stones, cut/slice/suck the bitten spot, and
other ghastly time-consuming deadly ‘remedies’.

As Rom catlingly remarks ‘If the snake hasn't
injected enough venom, even popping an aspirin
can save your life.’ That's the key - snakes inject
venom voluntarily and we have no way of knowing
if it has injected venom, and if it is a lethal dose.
The only first aid is to immobilise the bitten limb like
you would a fracture, and get to a hospital for anti-
venom serum without wasting time.

6. Pick out a word from the passage, that means
‘having the power to cause death’.
(A) Immobilise
(B) Voluntarily
(C) Lethal
(D) Serum
7. Pick out a word from the passage which means
‘to go around in search of food'.
(A) Foraging
(B) Countryside
(C) Venomous
(D) Barefoot
8. According to the author, what is the reason for
the high fatality rate due to snakebites in India?
(A) Lack of scientific knowledge about
snakebite.
(B) Shortage of medical facilities
(C) Shortage of anti-venom serum
(D) Shortage of doctors
"

(3)

10.

1.

12.

13.

pO— it may bite in defence’. This observation
implies that

(A) asnake is very good at defending itself.

(B) asnake bites a human being only when
it is threatened.

(C) human beings are defenceless against
snakes.

(D) asnake may bite a human being in order

to defend its prey.

In the instance of a snakebite, what should we
do immediately?

(A) Tietorniquets.
(B) Eat herbal chutneys.
(C) Cut-slice-suck the bitten spot.

(D)

Immobilise the bitten part and get
antivenom serum.

Storing foodgrains in the house is one of the
causes for snake bites because -

(A) the smell of foodgrains brings both

snakes and other animals into the house.

snakes enter houses in search of stored
foodgrains.

(B)

(C) foodgrains attract rats which in turn

attract snakes.
(D) stored foodgrains create convenient
hiding places for snakes within houses.

According to the author, people living in which
parts are more prone to snake bites?

A)
(B)
(©)
(D)

Which of the following is a conditional
sentence?

(A)
=)
(C) Shutthe door.
(D)

Villages
Crowded cities
Mountains

Open fields.

| have to go to work.

if the sea is stormy, the waves are high.

it's a sunny day, isn’tit ?
[P.T.O.



Directions (Q. Nos. 14-16) : In each of the following
questions, a sentence has been given in direct/
indirect speech. Out of the four alternatives
suggested select the one which best expresses the
same sentence in indirect/direct speech.

14. ‘Are you alone my son?’ asked a soft voice
close behind me.

(A) A softvoice from my back asked if | was
alone.

(B) A soft voice said to me are you alone
son.

(C) Asoftvoice asked that what | was doing

there alone.

A soft voice behind me asked if | was
alone.

(D)

15. The spectators said, ‘Bravo! Well played, Ravi’.
(A) The spectators called Ravi bravo
because he had played well.
(B) The spectators said that Ravi played well
and applauded him.
(C) The spectators encouraged Ravi saying
that he played well.
(D) The spectators applanded Ravi saying

that he had played well.

16. The traveller enquired of the farmer if he could

tell him the way to the nearest inn.

(A) The traveller said to the farmer,'Where
is the nearest inn?’

(B) The traveller said to the farmer, ‘Which
is the way to the nearest inn?’

(C) The traveller said to the farmer, ‘Can you
tell me the way to the nearest inn?’

(D) The traveller said to the farmer, ‘Can you

tell me where is the nearest inn?’

n

(4)

Directions : (Questions Nos. 17 to 19) are
incomplete sentences. Beneath each sentence you
will see four words or phrases, marked (A), (B),
(C) and (D). Choose the one word or phrase that
best completes the sentence.

17. Here notebook and report that |
promised you last week.
(A) isthe
(B) arethe
(C) was the
(D) hasbeena
18. Our flight from Delhi to Kolkata was delayed
the heavy fog.
(A) because of
(B) because
(C) on account
(D) asresuit

19. Neither Sheela nor her brothers a
consent form for tomorrow’s field trip.
(A) need
(B) needs
(C) isneeding
(D) has need

Directions : (In Questions Nos. 20 & 21) you will
find two sentences that have been given in active/
passive voice. Beneath each sentence four
alternatives, marked (A), (B), (C) and (D) have been
given. Out of these alternatives select the one which
best expresses the same sentence in passive/
active voice.

20. Who is creating this mess?

(A)  Who has created this mess?

(B) By whom this mess is being created?

(C) By whom has this mess been created?

(D) By whom is this mess being created?
21. Please help me.

(A)  You were requested to help me.

(B) You are being requested to help me.

(C) You are requested to help me.

(D) You have been requested to help me.



22. In ‘The Refugees’, the author portrays an old

23.

24.

25.

"

farmer as one of the refugees who
came to the city during a flood in the
countryside.

(A) Indian

(B) Korean

(C) Chinese

(D) None of the above

The narrator of the story, ‘Engine Trouble’, kept
the road engine at the Gymkhana Ground
because

(A) the showman did not allow him to take it
home.

(B) the man did not have the means to carry
it home.

(C) the narrator did not have a place to keep

itin.
None of the above

(D)

The tormentors in Ruskin Bond’s ‘Most
Beautiful’ threw at the deformed retarded

boy.

(A) mud and stone
(B) balls

(C) bats

(D) flowers

‘The Giant had been to visit his friend and had

stayed with him for years.
(A) five

(B) six

(C) seven

(D) eight

(5)

26.

27.

28.

29.

The railway station was minutes’ walk
from the house of Uncle Podger.

(A) ten

(B) nine
(C) eight
(D) seven

‘Wild Sky’ in Tennyson’s
‘Ring Out, Wild Bells’
actually suggests the
the poet’s mind.

state of

(A) ecstatic

(B) joyous
(C) optimistic
(D)

gloomy

‘Wearing white for Eastertide’. ‘Eastertide’ is a

___ festival.
(A) Christian
(B) Muslim
(C) Sikh
(D) Hindu

After taking his degree at Cambridge University,
William Wordsworth travelled in

(A) America
(B) Britain
(C) France
(D) India

[P.T.O.



30. One of the most notable longer poems of Ralph

31.

32.

1

Hodgsonis_____

(A) ‘Tintern Abbey’

(B) ‘TheBulr

(C) 'Songs of Childhood’

(D) ‘Tyger

‘One by one the casements catch her beams
beneath the silver thatch;’

‘Casements’ means
(A) large doors of a hall
(B) large doors of a castle

(C) roof of covering made of dried straw,
reeds etc.

(D) windows that open like a door

In ‘Sonnet to the Pupils of the Hindu College’,
the poet expresses his thoughts mainly with
the help of comparisons. Such comparisons
which are mainly used in the poem as similes
are

(A) summer mornings and evenings.

(B) stretching of the wings of young birds in
- soft summer hours.

(C) the gentle opening of the minds of the
students and expansion of their
intellectual energies and powers.

(D) None of the above.

(6)

33. Choose the appropriate phrase to fill in the gap
in the following sentence.

While giving evidence in the court, she broke

(A) up
(B) down
(C) in
(D) at

34. Rahul fought tooth and nail to save his
company.

‘tooth and nail’ means

(A)  with weapons

(B) as best as he could

(C) using unfair means

(D)  with strength and furry

Directions : Q. No. 35 has four underlined words
or phrases. The four underlined parts of the
sentence are marked (A), (B), (C) and (D). Identify
the one underlined word or phrase that must be
changed in order for the sentence to be correct.

35. While searching for the wreckage of a

A B C

unidentified aircraft, the Coast Guard
encountered severe squalls at sea.

D
A) A
(B) B
€ ©
(D) D
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PART—III / Si5—III
HISTORY / &fez™

Directions : Answer the following questions by

selecting the correct option.

71. The author of Ramcharita is

(A) Tulsi Das
(B) Sandhya Kar Nandi
(C) Kalhana

(D) None of them

72. Literary sources can be supplemented by
(A) Biography
(B) Local Chronicles
(C) ForeignAccounts

(D) None of the above

73. 6th Century B.C. India is remembered for
(A) Religious Unrest
(B) Political Unrest
(C) " Economic Unrest

(D) None of the above

74. The first Jaina Council was held at
(Ay Vaishali
(B) Prayaga
(C) Pataliputra

(D) None of the above

"

(11)
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75. Mahayana Sect of Buddhism was emerged
during the reign of

76.

77.

78.

79.

"

(A)
(B)
(C)

(D)

Kanishka

Ashoka

Harsha

None of them

How many wars were fought by Ashoka?

(A)
(B)
(©)

(D)

One

Two

Three

None of the above

The consolidation of the Magadhah empire was
completed by the

(A)
8
(C)

D)

Battle of Hydaspes
Battle of Avanti
Battle of Kalinga

None of the above

The court poet of Samudragupta was

(A)
(B)
(©)
(D)

Veerasena
Harisena
Mahasena

None of the above

Chandragupta | was the founder of

A)

®)

(©)
(D)

Vikramshila Vishwavidyalaya
Takshashila Vishwavidyalaya
Nalanda Vishwavidyalaya

None of the above

75.

76.

77.

78.

79,
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81.
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83.

84.
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Dravidian style of temple architecture began
with

(A) Chalukya Rule
(B) PallavaRule

(C) Rashtrakuta Rule
(D) None of the above

Delhi Sultanate got recognition from Khalifa
during the period of

(A) Balban
(B) Ala-ud-din
(C) litutmish

(D) None of them

There were
Sultanate Era.

dynasties who ruled in the

(A) five
(B) six
(C) four

(D) None of the above

Who revolted against Sultan Razia ?

(A) Altunia
(B) Abdur Razzak
(C) Khizir Khan

(D) None of them

In Bengal, Balban suppressed the revolt of

| (A) BaguraKhan

(B) Tughril Khan
(C) Bairam Khan

(D) None of them
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85. The famous Bhakti Saint who belonged to the

86.

87.

88.

89.

n

royal family of Mewar was

(A) Rambai
(B) Meerabai
(C) Tarabai

None of them

(D)
The Sufi Movement encouraged
(A) brotherhood
(B) non-violence
(€)

conservative outlook of Quran

None of the above

(D)

Which period is known as Mughal-Afghan
conflict for supremacy in India?

(A) 1497-1503
(B) 1526-1556
(C) 1512-1545
(D) None of the above

A new coin ‘Dam’ was introduced by
(A)  Akbar

(B) Shershah

(C) Shahjahan
(D) None of them

Guru Tegh Bahadur was killed by
(A) Jahangir

(B) Babar

(C) Aurangzeb

(D) None of them
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90.

91.

92.

93.

94,

"

‘Buland Darwaza’ is situated at
(A) Agra

Fatehpur Sikri

Almora

None of the above

(D)

Treaty of Purandar was signed between
Maratha and Mughal in the year

(A) 1661
(B) 1663
(C) 1665
(D) None of the above

The treaty of Alinagar was signed between
(A) Dupleix and Clive

(B)
(©)

(D)

Clive and Siraj-ud-Daulah
Dupleix and Mirjafar

None of them

The weakness of the native rulers was
revealed after the battle of

(A) Pandua
(B)
(C)
(D)

East India Company introduced Dual System
of Government in

Plassey
. Panipat

None of the above

(A) Madras

(B) Bombay

(C) Bengal

(D)

None of the above

90. ‘LW vReHE HAES

91.

92.

93.

94.
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A) TS

(B) TCoAPECS

(C) IETANBITS

(D) T @IbE 7@

TIRIOT 3R (AT N SR Fh FF©
T

(A) 1661
(B)
(C)
(D) TR @IAIDR =

(A) A 8 FIRCST T

(B) T ¢ PreoHEN Iy
(C) g ¢ TTSTEH T

(D) U™ oL

TR TR 4ol o CPICaReT

(A) IGAR CEF |
(B) “NIR IC&A K

1663

1665

(C) [t Jrad *IF
(D) THEE @2

33 3o @I (ES MIPHRIRE 29eH
IR

(A) @it
SIKIENS
G
TR IR W

(B)

(©)
(D)
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95.

96.

97.

98.

99.

n

Permanent Settlement was related to
(A) textiles

(B) trade

(C) land

(D) None of the above
Grant of Diwani was to collect
(A) raw materials

(B) revenues

(C)
(D)

salaries for British Army

None of the above

The features of Rammohan’s ‘Brahma Samaj’
was

(A) practice of kyrtan
(B) practice of idol worship
(C)

(D)

practice of collective prayer
None of the above

From when Vivekananda’'s birthday is
celebrated as ‘National Youth Day’ in India?

(A) 1983
(B) 1985
(C) 1987
(D) None of the above

For women’s education in India, Vidyasagar
helped

(A)  John Bethune
(B) Jonathan Duncan
David Hare

()

(D) None of them

95. B AWk TIRFe

96.

97.

98.

99.
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A)  TEH-GF MR

(B) =PIE MY

(C) &N A

(D) TARE @IAIDE 7
eI TS T

(A)  PIENE Heg

(B) AETR MR

(C) R™ cmizEm @ev ez
(D) T @R T
(A)  FrEER AT

(B) LB ST

(C) TS IR ST
(D) TR FIHe =

B (AF SRS NEIFNWE S “Srelg
W = e efifers =192

(A) 1983
(B) 1985

(C) 1987

(D) TAER @Iihe 79

ST N R S RgPiie SRRy FEReEs
A) & @Y

(B) (RIINT TP

(C) (ST (E

(D) €T O3 7



100. The author of the Fakira of Jhungura is

(A) Biponchandra
(B) Ramtanu Lahiri
(C) Derozio

(D) None of them

101. Which movement was started to establish a
Modern system of education for the Muslims?

(A) Khilafat Movement
(B) Aligarh Movement
(C) Wahabi Movement

(D) None of the above

102.During the formation of Indian National
Congress the Viceroy was

(A) LordRipon
(B) LordMinto
(C) Lord Dufferin

(D) None of them

103. Gandhiji was the President of Indian National
Congress in the year

(A) 1919
(B) 1924
(C) 1930

(D) None of the above

" (17)

100. Fakira of Jhungura-<43 (FT4<F
@) R
(B) TS AR
c) forafae

(D) € (303

101. TIRTTR & SIER Reel Sqet @i
AT WF RS ?

(A) Rers SirviEs
(B) ifeIas Tvie
(C) AR STwE

(D) TUEE @ADL T

102. SIS TSR T 2SS 78 TG fRee™
A =6 R
B) =6 NTH
(C) =& TFR

(D) €M FoT 7=

103. IR SIS TS FTACR TS e
(A) 1919 FFGIA
(B) 1924 B
(C) 1930 IFTIA

(D) TR @R 71
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104. The Partition of Bengal of 1905 was
(A) an attempt to split the Congress
(B) an attempt to appease the Muslims

(C) anattempt to weaken the nationalism in
Bengal

(D) None of the above

105. Moulana Shoukat Ali was the leader of

(A) Farazi Movement
(B)  Wahabi Movement
(C) Khilafat Movement

(D) None of the above

106. Which act is known as ‘Black Bill'?

(A) Rowlatt Act
(B) PoonaAct
(C) Regulating Act

(D) None of the above

107. In which Congress Gandhiji opposed Subhash
Chandra’s nomination as the Congress
President?

(A) Haripura Congress 1938
(B) Tripuri Congress 1939
(C) Calcutta Congress 1940

(D) None of thé above

104. 1905-97 THEH 2
A)  FACH RoreEg 95 dus!
(B) PIRWTA (O TN G35 2THB!

(C) TENN SERORMST 7dH TR 4FH
STHB

(D) ToER @b T

105. TR GTpe. wifer fieamey
A) TAG FCHHAFT Tl
(B) S ST (ol
(C) Retree STHIAETR (ol
(D) TR @D a7
106. (P WAL ‘e W2 e AR ?
(A) T =iEw
(B) A Wi
(C) @EEMR WA
(D) TR @R 7w

107. FF T ARG TSR FATH Toioifs
RO JeRsTHd TR [Raifist
PR ?

(A)  1938-93 ’a‘ﬁt{éﬁ Y
(B) 1939-93 fasif AT
(C) 1940-9F TFJIS! FLATH

(D) TR @hE W

M (18)



108. The ‘Iron Man of india’ is
(A) Dhiru Bhai Patel
(B) Bhula Bhai Patel
(C) Vallabh Bhai Patel

(D) None of them

109. The period 1870-1914 is known as the
(A) age of complete peace
(B) age of Imperialism
(C) age of Industrial Revolution

(D) None of the above

110. World War | is also known as
(A) The War of Bismark
(S) The War of Kaiser
(C) The War of Churchill

(D) None of the above

"

108. SRCST ‘(N A’

(A) TR oG

(B) TEISR “ILH

(C) IETSR T

(D) €U (PO T |
109.1870-1914 &7 TR “R6S

A 7 =i o

(B) EERITE I6 e

) fr Rieicam g0 B

(D) ORI @R

110. 212w Feygm ={fioe
A R 1w e
(B) IS & &I
(©) viftew & I

(D) TR @ADL 7
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PART—IV / ©5—IV
GEOGRAPHY / gesitet

Directions : Answer the following questions by
selecting the correct option.

111. The only satellite of the Earth is

(A) the Moon
(B) the Sun
(C) the Saturn

(D) None of the above

112. Change of season is the effect of
(A) rotation
(B) éscillation
(C) revolution

(D) None of the above

113. Latitude is important for
(A) the location of a place
(B) anidea of climate of a place
(C) detecting the temperafure belt

(D) AII of the above

114. A shallow geosynclinal sea is called
(A) Sargasso sea
(B) Tethys sea
(C) Dead sea

(D) None of the above

Az ¢ S Ted it I Mo ol
Teg Tie |

11, 7R «Fg Teolefs ==
A) W
B X
©) =M
(D) THEE IR T

112. 47D ISR afowst 2@
@) wifEs afs
(B) (oW
(C) IR oS
(D) TR IR T

113. SEFISCIR B 29
A) G0 R SRRER &)
(B) 3 BT SeRRF 4R &y
(C) wal TR WS FAT &=
(D) TR FRIH3

114, S35 TSR TS TRCF @0 =
(A) ARSI "
(B) C5fpT Tm
(C) Yo
(D) TIET @HE =

" (20)



115. The incidence happening at the boundary
region of adjacent plates is

(A) Landslide
(B) Avalanche
(C) Volcanicity

(D) None of the above

* 116. By which scale earthquake is measured?

(A) Seismographic scale

(B) Intensity scale

(C) Richter scale

(D) None of the above

117. Granular disintegration is found in the region
of

(A) cold desert
(B) hotdesert
(C) semi-arid desert

(D) None of the above

118. Corrosion is the process of

(A) transportation

(B) denudation

(C) erosion

(D) Allofthe above

" (21).

115, “eiif c2BRIE WeTE (¥ 9o =W GG 2
(A) B
(B) &=l e
(C) O
(D) ToER CRIAIHR 7
116. (I (571 TR SARFTR Se! oA =2
(A) Seismographic ;caie
(B) Intensity scale
(C) Richter scale
(D) TR FICAIHE =

147, "Feell el (1 S0 TS “fhed T o
27

(A)  Aroe TEERTS

(B) T TESRCS

(C) o W TS

(D) TET @R 77
118. 59y 2wl =

A AR

(B) WA

(C) =N

(D) TR TRFL
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119. Very deep and narrow landform of a river is
called

(A) gorge
(B) hanging valley
(C) canyon

(D) Allof the above

120. Eskers is the landform of
(A)  wind
(B) glacier
(C) desert

(D) None of the above

121. In Rajasthan, the small dune lake is called as
(A) dhand
(B) oasis
(C) playa
(D) l\.!one of the above
122. Tombolo is the topographic feature of
(A) river
(B) wind
(C) acolian

(D) None ofthe above

119, T ¥J O 8 M| T-9M07F o1 =

@) e
(B) IR Torer
(C) A
(D) ToEd TR
120. TR AT == |
(A) YA
B) fawmne
(C) wFghE
(D) TEE @IEHE 77
121, AR F7 TS 2 @ =
A 4=
(B) wFWIN
(C) o=
(D) TR @R T
122. 50310 AT (Sifers AR =
A) TR
(B) IR
(C) WS TFehE

(D) TR @HE =
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123.In limestone region swallow hole is
transformed into

(A) uvalas
(B) dolines
(C) polji

(D) Allofthe above

124. Nitrogen and Oxygen gases are composed in
the layer of

(A) Heterosphere
(B) Homosphere
(C) Troposphere

(D) None of the above

125. The factors influencing the atmospheric
temperature are

(A) Insolation
(B) Latitude
(C) Reﬁef

(D) Allofthe above

126. All hot deserts are under the pressure belt of
(A) equatorial low pressure
(B) polar high pressure
(C) subtropical high pressure

(D) None of the above

" (23)

123. SR S%TE G (e TGRS =7
(A) TCORH-9
(B) (OifeTi-9
(C) (ArTE-9q
(D) THET TR0
124, 7FGIE @ SRS o777 @ o1 T 27
A)  EGEIPEIE
(8) FERE
(C) GrenPeam
(D) TR @R 7

125, NG SIS 2SR TN TAMINL
2%

@A) TRRE S T
(B) IR

© $-oFfe

(D) ToTRT TRFH2

126. 7% T WEeReR @ sieRE Wt Gl
k|

A T s 3o
(B) (WFCMIE THBIA T
(C) THFRT THHIA I

(D) THARR @IAIDE 7
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127. Relief rain is found in the 127. CERTH FBAS @4 I

(A) leeward side of the hill (A) RTe3 QS Gt
(B) windward side of the hill (B) ﬁ'q't\s'q ofsgre oE
(C) both lee and windward side of the hill (C) °RUeH Sars @ gifedre Te¥ Gite
(D) None of the above (D) THFI @2 T
" 128.The source region of Labrador current is 128. TTRITE (EITeT T Sk EG
(A) Arctic ocean (A)  EF TANE
(B) Newfound land (B) owIeE 7w
(C) Greenland (C) TS
(D) None of the above (D) TR @I T

129. ‘Tidal bore’ occurs at the

129. ‘GER SIEE FE

(A) Junction of river and sea

(A) TG TEF FTREEE

(B) Junction of high and low tide (B) (SR SR FCArEE

(C) ;:gg‘gon of full moon and new moon ©) "ﬁzf‘-’ﬁ @ SR T

(D) None of the above (D) TIEE @EIE 7

130. The ocean current’'s movement depends on 130. T@CECSR oS &7 I

(A) planetary wind A) TS IR TR
(B) monsoon wind (B) CTPIN eI T
(C)  periodic wind (C) TR IRERITET To[
(D) None of the above (D) TR (IR W

n- (24)



131. Nor-wester and hailstorm occur over gangetic
plain during the month of

(A)  March-April

(B) Apri-May

(C)  June-July

(D) None of the above

132. Plants, able to withstand prolonged draught
environment, are known as

(A) Hydrophytes

(B) Mesophytes

(C) Xerophytes

(D) None of the above

133. Land degradation is mainly caused by the
factors of

(A) deforestation and overgrazing
(B) fires and mining

(C) poorland management

(D) Allofthe above

134.1n U.S.A., the Red Mountain is famous for the
production of

(A) ironore
(B) mica
(C) bauxite
(D) None of the above
135. The major coal producing areas in India are
(A) Chhattisgarh and Jharkhand
(B) Odisha and Madhya Pradesh
(C) Andhra Pradesh and Telengana

(D) Allofthe above

M | (25) .

131, 91T TSR TASTEOEA @R IFfAT 23 A
(A) Wb-afeE e
(B) «fPE- e
(C) - AT
(D) AR IR 7

132. AT WS o TERe Shenafets @
o3

(A 2ROGRD
(B) (CTFIZH
(C) (SATIZE
(D) AR (IR 7
133. SRIPEE A4 FIE 2#
(A)  SRTT R SO RGO
(B) WRE @3 e o Trare
(C) Vel Yhaa! g
(D) TR TR

134, I[F< T&ANZA @@\W (Red Mountain) &%
TRAMTTR & TS GG 2e

A TR RS
B) W&
(C) D
(D) TotaR CRRICAIGR
135. SICST A4 FE TAMT BB 2o
A) =TGR TS
(B) SRGy @32 AT
(C) THAT™ IR (ST

(D) TR TRF02
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136. In India, Manikaran is the energy centre of
(A) wind
(B) geothermal
(C) solar

(D) None of the above

137. Commercial Plantation Farming is found in the
(A)‘ equatorial region
(B) temperate region
(C) tropical region

(D) None of the above

138. The favourable raw material(s) for the growth
of cotton textile industry is / are

(A) raw cotton
(B) terylene
(C) rayon
(D) All of the above
139. The paper industry of Nepanagar Newsprint
Plant is located in
(A) India
(B) Bangladesh
(C) SrilLanka

(D) None of the above

140. Which is the highest mountain peak in the
world, located in Asia ?

(A) Karakoram
(B) Mt. Everest
(C) Pirpanjal

(D) None of the above

136. ©ICeY Nwa *eEalh 2o
(A) TR BifeTS
(B) T-OIR Bifers
(€) CTife vifers
(D) SO @D T

137. 7S a5 IR @XTS #eat A
(A) =R S
(B) wifReRiToRe wece
(C) IV ST
(D) TAER PILE T

138. 311 T it St FIvie =5
(A) ol Fif
(B) (Gffer
(C) &=

(D) TNIT T3,

139. ioIe RICe™ (R MSSTG @ alb s[e
(A) SiRTS
(B) JIBMNCTCH
(C) HrTER
(D) ©&F IR =W
140. R @I I *Fois GFRITS S[FES?
(A) FRCIAT
(B) WITT OIS
(C) Toritepe
(D) TIRF @R W
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141. Shrubs, grasses and mosses of Asia are found
in

(A) Arctic region

(B)
(C)

Siberian region

Tundra region

(D) None of the above

142. A group of coral islands in India is located in
(A) Andaman

(B)

()

Nicober
Lakshadweep
(D) None of the above

143. The western slope of the Western Ghats is
covered by

(A) monsoon forest
(B)
()

(D)

tropical evergreen forest
tropical dry forest

None of the above

144. The north-flowing river of Tripura is

(A) theHaora

(B) the Gomati
(C) theFeni
(D)

None of the above

145. The broad gauge railway line was introduced
atAgartala

(A) inMarch, 2016
(B) inMarch, 2015
(C) inMarch, 2017

(D) None of the above

n (27)

141, ST QIRITE, TSR G2 T (TS el
g

(A) IO A
(B) AR weeTe
(C) Wul HRTET
(D) ToRR (IR
142.©CSH I 43 AeeeiE SRES
i ,‘
(B) T
(C) =R
(D) TER BIAE 77

143, % F5TRIGA SF6H O (@ IS TR WS
¢ ==

i EIRCEC
() @B forzRe sy
(C) TR WF TR
(D) TR @IEHE T
144.f75@7 TeRIfER W =
2reT!
RN
() @&@q
(D) THEF @S
145, TTE, (TR RO T& AR

(A)

(A)

(A)

(B)

(A) inMarch, 2016

(B) inMarch, 2015

(C) inMarch, 2017

(D) TR @R
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146. ?hanghai industrial centre of China is famous 146. 319 :sﬁgqﬁ Pl e G|
or
(A) cotton textile and woolen industry g FIAPT S 6 P P -l
(B) cotton textile industry (®) Qﬁ"ﬁﬂv T P &
(C) cotton textile and engineering industry © et T <R AR o v
(D) None of the above (D) B (A T
147. Which city is known as ‘Venice of the East’ in 147';??@ COFPT ST ST (P R
Japan ? qioS ?
(A) Kobe A) I
(B) Osaka (B) &A=
(C) Kyoto (C) CPITHH!
(D) None of the above (D) TEE @hE W
148, Shoe factory at Batanagar is located in 148. IO GO PTG (¥S
(A)  the Haldia industrial belt (A R R e
(B) the Chhota Nagpur industrial belt (B) G ey 7o
(C) the Hooghly industrial belt () =oifeT g ToT A
(D) None of the above (D) ToER (IS 7
149. Japan is the principal buyer of 149. T ZeT 4 (Fo!
(A) India’s Bauxite (A) SRTST IAZH-9F
(B) India's Coal (B) TIRUST FFe(-99
(C) India’s Mica (C) TCRRrST 9¥-9F
(D) None of the above (D) TRE @He 7
150. Durham coal field is located in 150. TREY FTREG SIS
(A)  United Kingdom @A) b BEE
(B) Japan (B) Sl
(C) United States of America (C) R TEAEF
(D) None of the above (D) TR @EHE =

" (28).
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